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7) Each objective question is followed by four responses.
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& 739 3 forrs sar8eT J &7 g yrs ynAf3ar 31
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29 A

1. Where is Majha region? 1. W3 e 39 fag 37
A) Central Punjab A) dedt uas
B) North East Punjab B) €337 ydgg une
C) South East Punjab C) dy< ygg Urg
D) South Punjab D) Syt uae
2. In which year Guru Granth Sahib was accorded 2. fgJ3 A €9 a1g 9fF Arfoe ¢ aig &t ue<t e
the status of Guru Afgnst It H?
A) 1664 A) 1664
B) 1704 B) 1704
C) 1699 C) 1699
D) 1708 D) 1708
3. In which year India - Pakistan partition took 3. 33 - ufanzTs &t &3 fan mrs It?
place?
A) 1954 A) 1954
B) 1947 B) 1947
C) 1956 oM os6
D) 1949 E».
4.  What is the popular food of Punjabi's? 4. UHTE €T HAYY 398 ot 37
A) Dhokla A) ETE
B) Sarson ka saag B) woH € HI
C) Thepla C) zum
D) Idly D) ezt
5. Rustis hydrated: 5.  #a oreiges A Asuias:
A) Aluminium oxide A) e MraAets I
B) Copper oxide B) Iud maAels J
C) Iron oxide C) mfeds et I
D) Silica D) fretar 9
6. A reaction in which, under equilibrium, both 6. Qg yIfafem fan e, A3®s € »i33a3, yJtarga m3
reactants and products are present is called as 83ure €2 Hyge g€ 75, gu8et J
A) Exothermic A) 31y fagmt
B) Endothermic B) 3u gHt
C) Reversible C) yIteast
D) Irreversible D) mufgeazsHls
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29 A

7. When was Asiatic Cheetah declared as extinctin 7. 3733 &g efimret 913 & o€ uz Witz i3 famr Hi?

India?
A) 1952 A) 1952
B) 1965 B) 1965
C) 1976 C) 1976
D) 1982 D) 1982
8.  Guru Di Maseet at Gurdaspur is 8. ggemyd feu aig <t vz ot 37
A) A garden A) feq gmar
B) A mosque B) fea wrfae
C) Atemple C) fea Heg
D) A gurudwara D) f&& qrg==rar
9.  Which of the following plant hormones causes 9. fors fed Ue € fag3 gars € 9796 U3 g I A
wilting in leaves? J&7?
A) Ethylene A) ot
B) Auxin B) wiafivs
C) Gibberlin C) friets
D) Abscisic acid D) rafawfes »s
10. In which year Punjab was annexed by British? 10.. ‘nfgrge & faa3 A Uarg €3 g+ 99 f831?
A) 1847 A) 1847
B) 1857 B) 1857
C) 1843 C) 1843
D) 1849 D) 1849
11. Lohri is essentially a festival dedicated 1. &gt e 3809 vy 39 3 faw dta & mHafuz 37
A) To fire A) "I
B) To soil B) fHeta
C) To water C) uty
D) To moon D) d€3%
12. Which of these accelerate growth in plant 12. fogst &4 fagz Ue € 3¢ oo 3t o% = gger 37
stems?
A) Vitamin A) feafys
B) Giberlin B) fmagdts
C) Phytochrome C) e
D) Auxin D) wiafhs
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29 A

13.

14.

15.

16.

17.

18.

Where is the Gobindgarh Fort?

A) Amritsar

B) Chandigarh

C) Mansa

D) Bathinda

Punjabi language is derived from

A) Pishachi

B) Magdhi

C) Shourseni

D) Hindvi

Area of Punjab that is between rivers of Beas
and Satluj is called as

A) Majha

B) Malwa

C) Doaba

D) Giddha

Which ceremony is observed in the morning of
the wedding day?

A) Ghori

B) Ganna

C) Gharoli

D) Jaggo

Which Governor General annexed Punjab?
A) Harding

B) Dalhousie

C) Metcalf

D) Bentic

The cotton belt of Punjab is located in which
geographical region of Punjab?

A) Doaba

B) Majha

C) Malwa

D) Pothohar

13.

14.

15.

16:

17.

18.

difdeds = faor fag 37

A) »iftZrg

B) wsfiorg

C) HaH

D) =fesr

Ut g fam 3 yus oSt aret 97
A) fumr

B) wardt

C) fgrdt

D) fdet

fer™H w3 73BH Ehf sl fegaad Uag € 839 &
aft fagr wter 9

A) HsT

B) &<t

C) S

D) forar

fenra =78 fos &t A9 @ faodt I3 it 7idt 972

A) ut

B) drer

C) wast

D) #mat

fag2 gedad A5ds & UAg €73 997 o131?
A) gafsar

B) s®uGHt

C) feare

D) Sxfea

yre € fao3 gaifeq foera fieg une &t des g8
Afgz 3?

A) onrer

B) s

C) Hs=r

D) UgJ9
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29 A

19. For which of the following industry is Bhadrawati, 19. dgaed = guged! faHafauz 29 faas Geuar <t
Karnataka famous? yfHg 37
A) Cotton Textile A) w3t duzT
B) Woolen textile B) Gatduz
C) Silk Textile C) Imft quzr
D) Iron and Steel D) &7 w3 ferur3
20. The device used for producing electric currentis ~ 20. f&m8! &7 ade §3vs a9 et <93 Aie Guage &
called a ferar weT
A) Voltmeter A) Fafies
B) Galvanometer B) dm2aics
C) Ammeter C) #hnfies
D) Generator D) me3ea
21. India has one of the largest networks of which of ~ 21. 793 fEgneg@et 2 foas AUs & A9 3 <37 7
the following modes of transport? fefenf Jfeur 92
A) Roadways A) FE& HiTaT
B) Railways B) gunraq
C) Waterways C) A@wiga
D) Pipelines D) sttt
22. The north-south corridors joins which of the 22. ©3d-Tuct aifend 993 © o fafmi fed faaz
following places of India? HETS! 3w I67?
A) Srinagar to Kanyakumari A) Hizarg 3 afemmanrdt
B) Srinagar to Rameswaram B) Hisarg 3 grimean
C) Shimla to Kochi C) fiprer 3 5
D) Dehradun to Kanyakumari D) €ggrgs 3 sfenmanrdt
23. What are negatively charged particles called? 23. fge 9rad gt § &t fagr Ater 37
A) Electrons A) fe&ads
B) Atomic nucleus B) yH'e ded
C) Protons C) I
D) Neutrons D) fsG8<a
24. In which direction of India Punjab is located? 24. arg 3793 <t fom femr feg mfez 37
A) North South A) €33 U
B) North west B) €33 usn
C) North East C) ©3dydsg
D) South East D) €Y< ygy
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29 A

25. When was quit India movement started by Indian

26.

27.

28.

29.

30.

National Congress?
A) 1942
B) 1945
C) 1937
D) 1935

In which month Festival of Basant Panchami

celebrated?

A) Chetar

B) Magh

C) Phagun

D) Poh

What is the latitudinal extent of Punjab?
A) 73955' north to 76°50' north

B) 29930' north to 32°32' north

C) 30°29' north to 30°30' north

D) 25930' north to 40°32' north

What happens to resistance of a metal with

increase in temperature of the metal?
A) Increases

B) Decreases

C) Remains same

D) First decreases and then increases
Which of the following is a mismatch?
A) Root nodules — Legume

B) Exarch Xylem — Roots

C) Smut - Puccinia

D) Endarch xylem - Stem

Where did Mahatma Gandhi start his first

Satyagraha movement in India?

27.

29.

30.

. 97331 gHedt JiaIgH ©MTTT 993 B3 MEss J€ 1Y

3T famr Hi?
A) 1942
B) 1945
C) 1937
D) 1935

gH3 ot = {389 faaz vt fa Harfonr ater 372

A) ¥339

B) v

C) eare

D) UT

UTTE ©T 0aHiH [SH3T9-839 foaT 3?7
A) 73°55.6° 393 76°50' §°39

B) 29030 §°39.2.32032' §39
C)y30029' £33 3 30°30' €39

D) 256030' 633 3 40032' §39

. far o3 ¥ 3 fieg T I 3% GR U3 € yFicdy

'3 &t »fAg Yer J7

A) Tuaerd

B) we ey

C) eft sfger 3

D) ufgst =u wrer 3 w3 feg we 7w 3
fons &5 fagsr g 37

A) FeeH A3 - e@terg yer

B) WaAad dfesH - A3t

C) dge™g - Ufartam

D) »awad FfesH - 3T

HI3HT a1t & 3733 e niueT ufgsT Afsmmafd Mess
forg Hg o3 Hi?

A) Champaran A) duge

B) Orissa B) &b

C) Kheda C) w=

D) Calcutta D) a=e3
Page 6 of 20

http://www.khilare.com

Free download Previous papers, Typing, jobs alert



29 A

31. Who was the founder of fascism in Italy? 31. fecst fieg et #t efiHee= € AEUd de A8?
A) Adolf Hitler A) w3se foesd
B) Emilio Gentile B) eHfet Hedts
C) Benito Mussolini C) #fse HAfsat
D) Stanley G. Payne D) nesat . ufed
32. Name the joint capital of Punjab and Haryana 32. UdrE w3 gfgmrer & widh grHTTat € o™ €H
A) Jaipur A) U3
B) Lucknow B) ®vsg
C) Chandigarh C) ddtarg
D) Amritsar D) »ffizHa
33. Which among the following is the most popular 33. Ja fafimft {39 Urrg € yant €7 /g 3 yfHu 379 fagsr
dance of men of Punjab? J?
A) Bhangra A) g3t
B) Garbha B). @gg"
C) Disco C) fand
D) Kathak D)jaiEa
34. Which type of rainfall is received by Punjab in 347 gordl nwiomzs © wdtd feg uarg feg fam famd wr g
July - August? yer J?7
A) Monsoon A) HEHS
B) Western disturbances B) st suz
C) Local rainfall C) waad Hfg
D) All of these D) feg A3
35. Who was the Governor-General of India at the 35. I93 83 MBS HY I I8 II3 T JILISI-HEIS S
start of Quit India Movement? H?
A) Lord Irwin A) 393 feafes
B) Lord Curzon B) &d3 ddws
C) Lord Linlithgow C) 93 feafeadt
D) Lord Reading D) ®a3 difgar
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29 A

36.

37.

38.

39.

40.

What was the immediate cause for the first world

war?

A) Assassination of Archduke Franz Ferdinand
of Austria

B) Attack on Poland

C) War between France and Rome

D) War between England and Germany

In which of the following area of Punjab the
largest number of steel rolling mills is located?
A) Ludhiana

B) Mandi Gobindgarh

C) Bathinda

D) Jalandhar

Teeyan festival is celebrated in which following
months?

A) Phagan

B) Cheter

C) Sawan

D) Bhadron

Which of the following crop is.a Zaid crop?

A) Maize

B) Paddy

C) Wheat

D) Watermelon

Property of a coil by virtue of which it opposes
the change of current through it by inducing emf
in itself is called

A) Self-induction

B) Mutual induction

C) Admittance

D) Impedance

36.

37.

38.

39.

40.

ufo® fere WU = 33a31s J196 of H?

A) AT € mdafsEd edw eastds et Ifamr
B) U483 3 avT

C) EIH M3 I fegard wu

D) feartss m3 wowelt fegara wa

Uarg &t I fednit fagdnt gief feg Ag 3 <0
foredt fiev vts Sfsar fhsst marfus 987

A) s

B) W3t dfsears

C) sfssr

D) 7®ud

37

A)” TT8

B). 1§39

C) <&

D) =g

forafeyz fed faodt ens o3t w3 At € wafimms
it 7= =&t (Ffee eH®) eHs J7?

A) Hdft

B) s&r

C) aea

D) zeuw

I35 ot OF fermsT & ot faor #fe J fane € a9s feg
& nieg emf Ufg3 aad fer S8 amas @& 9de &
gE5e 3 daeT J7

A) F-yge

B) ugnugd yde

ORICL:

D) yJigar=e
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29 A

41. Under Five Kingdom classification, 41, 7 Yyt Sadftdds € MagHTd, IBTHIHE™ M3 I&IST
Chlamydomonas and Chlorella belong to which fo st o Hefus 9?
of these kingdoms? A) A
A) Animalia 4
B) Plantae B) el
C) Protista C) dfewer
D) Fungi D) sge ' &
42. What was the period of Second World War? 42. e+ fene gy < e ot Hi?
A) 1939-1945 A) 1939-1945
B) 1932-1940 B) 1932-1940
C) 1935-1947 C) 1935-1947
D) 1938-1948 D) 1938-1948
43. In which of the following state Bokaro Steel Plant  43. dad Hi® usie faHs &9 fan iz f&g rfgz 37
is situated ? AR
A) Jharkhand B) rrgd
B) Bihar R
C) Gujarat K
D) West Bengal D) et sfares
44. Which of the following are the Big Three in the 44. foraieuz 9 g fere wu et fSs Tt madh
2nd World War? ottt 2
A) Roosevelt, Churchill , Stalin A) FaeEe, 9398, Aees
B) Churchill, Hitler, Stalin B) v3fe®, foess, reriss
C) Stalin, Hitler, Mussolini C) merfes, faesa, wfsat

D) Hitler, Mussolini, Roosevelt D) fgesa, Hifsal, grese

45. On which river has the Nagarjuna Sagar Dam 45. I Imidas Aad 8¢ faadt st 3 gerfont famur 372

been constructed?

A) e zeht
A) River Coyaba

B) fawer aeht
B) River Krishna o)
C) River Godavari ot
D) River Tapti D) s oef
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29 A

46.

47.

48.

49.

50.

Which one of the following describes a system of
agriculture where a single crop is grown on a
large area?

A) Intensive Agriculture

B) Horticulture

C) Shifting Agriculture

D) Plantation Agriculture

The reaction, Ho+Cl,—»2HCI is:

A) An oxidation reaction

B) A reduction reaction

C) A combination reaction

D) An isomerisation reaction

The term “New systematics” was coined by

A) Aristotle

B) John Ray

C) Julian Huxley

D) Engler

Italian Fascism gravitated to the right in'which

period?

A) The early 1920s

B) The early 1910s

C) The early 1940s

D) The early 1900s

Copper wires are used for electrical connections.

Why?

A) Because electrical resistivity for copper is
high

B) Because electrical conductivity is low

C) Because electrical conductivity is high

D) Because both electrical resistivity is high and

electrical conductivity is high

46.

47.

48.

49:

50.

fomafayz f&F fam ot Yot s e ot ems <23 83
feg Garet A<t 92

A) vt B

B) srqrarat

C) marstsfas ot

D) Sue wst

yFHfafenm, Hy+Clo»>2HCI :

A) &g nrartags YIifafenr I

B) fea nieggs yIifafans J

C) fea Hutms yIifafant g

D) fea miufarfafsa yIifafanr I

"ee "s<t Sgdfiags-fefomrs" & ¥a fegst & ofist
AY wigr3

B) wia®

CY st Tomss

D) &&drsd
fon o (&9 ezt eHiere & sam H-nifaag €
farm?

A) 1920 ¢t. @ mdg fg
B) 1910 €. © nidg g

C) 1940 . 2 nidg g
D) 1900 €. 2 »dg fZg

31g it 3797 &t <93 famedt € Taans et o At

d fag?

A) fagfa 3t <t fameet ySidusst mifta 3

B) fatfa fomeh fammet gaasr we 3

c) faSfe ferdt famedh grwaz mfte I

D) fatfa fereh fammet yduasT w3 famwet
TBIIT &< It miftg I8
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29 A

51. What type of organisms are Bacteria? 51. ggdh fam Yo € e 357
A) Acellular organisms A) wiafeft e
B) Prokaryotic Organisms B) GafaGfea e
C) Monocellular Organisms C) f&x afaht e
D) Eukaryotic Organisms D) wafsGfea i
52. Which of these four maharatnas markets steel 52. fegat 9r9 Hatg3a! 4 faasT Araenfss 439 €
for the public sector plants? et BEt fermurs € ydte-edu3 Jger 37
A) SAIL A) Fgamenreis
B) BHEL B) Sw/dhiadhns
C) ONGC C) Ereeitvt
D) NTPC D) wadhfirft
53. What is the Sl unit of magnetic field? 53. daeft izg <t S| feardt ot 3?7
A) Tesla A) Spmr
B) Kelvin B) asf=a
C) mho C) it
D) Siemen D)eiins
94. Brassis: 54 N3z fea:
A) An alloy A) g a3 J
B) A radioactive element B) JStewafee 33 J
C) A non-metal C) mu3J
D) A metalloid D) Suu3 J
55. Who is the President of NSWAI (National Solid 55. A& 2013 feg Menmzafgtene (3nss Hfss Sre
Waste Association of India) in the year 20137 WRFERE ne feghm) =1 yors de 37
A) Dr. Amiya Kumar Sahu A) 7. ikt FHTG ATg
B) Dr. Amrita Sahu B) s wifir Ay
C) Dr. Sarita Sahu C) 3. afgzr Arg
D) Dr. Lalit Sahu D) zv. mfgz Arg
56. Lime water is an aqueous solution of 56. Han<! A fog T uret ferer w&t W J
A) Calcium carbonate A) JBHMH TgEEE
B) Calcium chloride B) Jsrini aBITets
C) Calcium hydroxide C) aEHm Tty
D) Calcium bicarbonate D) d&wh arfeargdae
Page 11 of 20

http://www.khilare.com

Free download Previous papers, Typing, jobs alert



29 A

57.

58.

The acid present in an ant’s sting is :

A) Acetic acid

B) Methanoic acid

C) Citric acid

D) Tartaric acid

What is the angle between the geographic
meridian and the magnetic meridian at a place is
called?

A) Magnetic Declination

B) Magnetic Inclination

C) Horizontal component of earth's magnetic
field

D) Magnetic dipole

. i3t € 3 e feg vy Hige der o

A) mMHfed mHS
B) nEaTed mHS

C) wfefed mHs
D) crgefad mHs

. fan mers € gdifsd Hitmits w3 gadt Hits fegara®

de g ot fagr Ater 37

A) EECIRIER: L EY
B) gueft g

C) st = Juoft 939 o fufgeft 71 Bewt I

D) S5t €-ya=
59. Where was first World War centered? . Uyfg® fere gu ended fog H?
A) Europe A) gIu
B) Asia B) Srfuff
C) Africa G)wiedtar
D) America D) »Hdlar
60. What is the S. | unit of electric current? . Tea@t €@ gde &t S. | feardt dt 32
A) Coulomb A) I8
B) Ampere B) »nnfhug
C) Ohm C) Gan
D) Tesla D) 2mw
61. The cost of production of a product in a . fan fefime 7 feg feq O3y &t G3ues a3
particular year is Rs.600, divided between 600 3. 3, 7 fg miardt, Haedt w3 Qs yae fa
material, labour and overheads in the ratio 4:5:3. 4:5:3—@ i3 fog <t a;or N ﬁa‘;’ — H?lg‘o‘f .
What will be the marked price if the profit is & 10% © 5979 3, T Goure T T s s 32
equal to 10% of the labour cost?
A) Rs.610 A) 6103,
B) Rs.625 B) 6253.
C) Rs.675 C) 6754.
D) Rs.650 D) 650 4.
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29 A

62.

63.

64.

65.

66.

The average of 20 numbers is 23.25. The
average of first 9 numbers is 21.34 and the
average of the last 12 numbers is 24.01. Find
the 9th number?

A) 13.18

B) 15.18

C) 15.28

D) 15.81

A diver dives to a depth of 650ft into the sea and
ascends 405ft. What is his position?

A) 245ft below the sea level

B) 1055ft below the sea level

C) 145ft below the sea level

D) 245ft above the sea level

The population of a city has increased to 105%
of its value last year. If the population this year is
3.15 lakhs, what was last year’s population?
A) 3.5 lakhs

B) 3.25 lakhs

C) 4 lakhs

D) 3 lakhs

Divide 102 into two parts such that one third part
of the first and the three-fifth part of the second
are in the ratio 4:3. Find the two numbers?

A) 52,50

B) 72, 30

C) 70, 32

D) 56, 46

Simplify: t/2 + 2t2+t+ 5/6 + 1 + t2/3 =7

A) t2/6 +t/12 + 11/6

B) 7122 + 3t/3 + 11/6

C) 7t3/3 + 3t/2 + 11/6

D) 7t%/3 + 3t/2 + 1/6

. 20 "yt = wiEs 23.25 J1 ufg&t 9 Aftmret &t

A3 21.34 I w3 fugdht 12 Aitret 27 »inz 24.01
J1 9=t HitmT uzT 33|

A) 13.18

B) 15.18

C) 15.28

D) 15.81

. f¥x d3dg mieq f£9 650 ge <t arfgardt 39 39t

FargeT d M3 405 g G ug vrSeT 31 Gnet nigt ot
J?

A) miedt 35 3 245 g2 It

B) miedt3® 31055 g2 Ist

C) AHedt 83 IM45 3= Jot

D) mied}, 3% 3 245 2= 8Ug

o fom mfag < aaition fee fues s <t 3se e

105% &t = Jfomm 799 for s & Aarfunr 3.15
4 9, 3 Usd w88 =t Aontan foaat /ft?

A) 3.534

B) 3.25 %y

C) 43y

D) 3 &y

. 102 '€ 31t {9 fem Y9 <3 fa ufgs g1 e fea

f3ot g3 g ga € fE5 e € UnR AT &
MEUTI 4:3 J=)| &< A=t U3T 937?

A) 52, 50

B) 72, 30

C) 70, 32

D) 56, 46

. IS da:t/l2+ 212+t +5/6+1+12/3="7

A) /6 +t/12 + 11/6
B) 7t2/2 + 3t/3 + 11/6
C) 7t/3 + 32 + 11/6
D) 7t2/3 + 3t/2 + 1/6
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67. 50ltrs solution contains milk and water in the 67. 50 fgeg W fe9 €U w3 Ust € »igut3 2:3 31 OR
ratio 2:3. How much water should be added to U 2 s uret 99 firgfen wrer grdfter 9 far Gaat
bring the ratio to 2:5? T oiEUT3 2:5 I 7R?

A) 10ltrs A) 10 fseg
B) 5ltrs B) 5fgcg

C) 20ltrs C) 20 fseg
D) 21ltrs D) 21 fees

68. What strength of 30ml alcohol should be added 68. 40% »Bdas = 15t fhmge fieg 30t mizdas

to 15ml of 40% alcohol to get an average <t fofat Hr3ar fHeht Aret ardftet 3 37 fa wigaass <t
strength of 20% alcohol? WHS HT3aT 20% J2?
A) 12% A) 12%
B) 15% B) 15%
C) 10% C) 10%
D) 8% D) 8%

69. Which of these cannot be the product of three 69. fea fe¥ fgah mitmr 5 Ffha yas Hitm<t = ges
consecutive integers? g8 ot J rget 97
A) 336 A) 336
B) 232 B)~232
C) 120 C) 120
D) 1320 D) 1320

70. What is the middle number of the three numbers 70, fai fs witmet © fegaragt mitm oft I<ft et e

which are in the ratio 5:3:4 and sum of whose wEUT3 5:3:4 I i3 QIst Hitmet € <gar =T 73 3200

squares is 32007 J?

A) 36 A) 36

B) 24 B) 24

C) 25 C) 25

D) 30 D) 30
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71. Fill in the blanks with correct option: 76. Find the synonym of the question word:
After spending a month in hospital, her health is Mighty
improving A) Strong
A) in line with B) Feeble
B) by leaps and bounds C) Feathery
C) for better or for worse D) Adventurous
D) all and sundry
72. Fill in the blanks with correct option: 77. Fill in the blanks with correct option:
My favourite subjectis __ Electronics. you better now?
A) an A) Are, feeling
B) the B) Have, felt
C) a C) Would, feel
D) no article D) Did, feel
73. Find the synonym of the question word: 78. |dentify the plural form of the given word:
Blaze Woman
A) Flame A) Women
B) Warm B) Womens
C) Heat C) Womans
D) Fume D) Womanss
74. Fill in the blanks with correct option: 79. Fill in the blanks with correct option:
It didn't rain the whole day. |~ have | don't know if he plays tennis now. He
brought the umbrella. when he was in college.
A) couldn't A) used to
B) should B) may
C) won't C) might
D) needn't D) should
75. Fill in the blanks with correct option: 80. Identify the plural form of the given word:
We can give the money to charity Radio
spending it to watch movies. A) Radioes
A) in light of B) Radios
B) in league with C) Radioess
C) on the contrary to D) Radioss
D) in lieu of
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81. Fill in the blanks with correct option: g7. “FI3 A r?g_ ”"@gg' » fegt feg” fam woes
We should start Th i a7
e should start now. The rain A) 5 Sier DT
already. B) »iot feg gg=t nr@ar
A) would stop C) Mar =JaT
. . D) »nidt feg &g 8397
B) is stopping =
C) had stopped
D) has stopped
82. Fill in the blanks with correct option: gg. “diw” mEE T »idw I?
The rats all the wires, every now and then. A) IIT IIAC
A) cutted up B) Hfox
B) cut ups C) Fror
C) cuts up D) HeTle
D) cutup
83. Fill in the blanks with correct option: 89. 2 fexgsy @< 7
Could you lend me ___ few hundred rupee notes? AY TTH o'
A) a B) A3 eux o
B) an C) =r3. 7O &<
C) the D). fedosox 5=
D) no article
84. |dentify the plural form of the given word: Beach 90. "G5 IToT YT T 0T J?
A) Beachos A) HIH F& BT
B) Beaches B) €1 &8
C) Beachess C) Tur ="
D) Beachus D) St XIaT
85. Fill in the blanks with correct option: 91 HITIBHI U T HEE F&'ET BT IS
you in Chennai when you were a fostemit feg™ faasT mae =af=nr mfer I°2
child? A) &
A) Have, lived B) ug
B) Did live C) mi=
C) Did, lived
D) s«
D) Did, used to live
86, “UfeQ AEl” ya=eg T »igg I ? 92. BT rx® © fUrtus Ia1 = x fagsT usse
A) Wg 3IT I TIARTr I ?
B) wsgT ArET A) niferg T 9x Ussie
C) feos fegar B) ASO TOX UIo'<
D) sTo™Ht a8t C) UAs T U5
D) formg Twox usaie
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93

94.

95.

96.

97.

98.

. fermz &t faa3t famy feg B vera=t
Mt g5 ?
A) IE TOx fermAs
B) Ffun swox ferms
C) foroeax ferms
D) ugo=t ferms

far fena3t & g1, vidie IT%3 nife &
fis IAfam a7 Sfpdr 7 AseT J1
A) &
B) f3&»
C) 979
D) I+

Br¢ fxa=s ugse afde a6 7
A) forgega uzsie
B) udy €9X U3oi<e
C) form Tox uz™ie
D) ASO ¥9X UIFs'e

St afde a5 ?
A) fafamr eziegr
B) X9H =ciedr
C) X eciedr
D) XI3T ct=d’

fafanr @ fam gu 3 usT a1 fa S5 T
feg i UgT sdt Ifen Aar 9% fgar mt”
faasT o T8 T2

A) »ifeHfgs 33 %

B) »Uds 33 IS

C) AUIE I3 X

D) HISt 83 &

J?

A) JXH T
B) femrato =vx
C) IS X
D) AOdE X

" 7 g g fagt @x o gu g€%e &

8rer €8T 39T 5 %Y J1 T = fFazT gu

99. IJo fou feg fersdt fSar sie |
A) Tt
B) fawr
C) axfe3r
D) mfag

100. “Ig &9 fa 1 =g feuadt gz At
faas 3= I°?
A) nifeafas 3feus o=
B) A=l 3feus o
C) forfoz 3feus a=
D) g+t 3feus 3
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9) Completely darken the CIRCLE so that the alphabet inside the
CIRCLE is not visible. Darken ONLY ONE CIRCLE for each
answer as shown in the example below. The CORRECT and the
WRONG method of darkening the CIRCLE on the OMR sheet are

given below. / difent & ydt 33" a® I3 3ffa I € »ieg f&3
TISHST & miyd & feye| Jat Beads 99 foure ae »igag g
€39 Bt des fq 318 § & 94| ©Ta Hie 3 318 3 I8 d9

=1 At 3 %3 Idtar Jat fE3T famr J
Correct Method Wrong Method
At 3dtar %3 It
D O @ C e o g Y 3
M O C )

e

10) In view of the tight time span, do not waste your time on a
question which you find to be difficult. Go on solving questions one

by one and come back to the difficult questions at the end. / #H &7
fims Jue I8, MRS YyAs 3 MU AHT sHe &7 a3 | fea-fea
=t 3Afim 33|

11) DO NOT make any stray marks anywhere on the OMR
Answer Sheet. DO NOT fold or wrinkle the OMR Answer Sheet.
Rough work MUST NOT be done on the answer sheet. Use your

test booklet for this purpose./ &g Hie 3 fg3 <t I Suar
fors &1 BarQ| ©mmig Hie 3 & B 77 & dt fon 3 e U1 ge

7t T JH §39 Hie '3 famas &1 @d| for aH S vt it
yAfser &t dt =93 3|

12) Questions are in both English and ~Punjabi. If any
confusion arises in the Punjabi version, please refer to the
English version_of the question. /'{{H?S PERICL: =l
et 99 I1 Agd UAH ARggs Y adt udEmEt 3, 3t faaur
mwémm?mﬁmm

13) OMR Answer Sheets will be processed by electronic
means. Invalidation of the OMR Answer Sheet due to its
folding/ wrinkling or putting of stray marks on it or due to
any other damage to it as well as incomplete/ incorrect
filling of the Answer Sheet or overwriting on the oval or use
of whitener, will be the sole responsibility of the candidate. /
Smmrg §33 Hiet 3 fessagisa fedt enmar afg it At fere
W3/ e uge 7t Jet Sud fors sarSe #f fid fa @33 die &
MyI/a%3 391 378 FI&T AT A GUT fEye Af HeE d9s T U
dt 293 &8 feHg ¥ae J95 98 SrHnTg 839 Hie € myHfes
Jd< 3 At ffiedt Gvteeg &t d<afh
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